A#E 1 CallEE B %)

5 kA EB&(BRIFEEE)

No.1

No. |k H 1 ( | ®o|mo/ & oA Al B %
kT =17 9 CR-14DN 4 H13.10.23  |[FHHT

2 ISR F 71 2T 2324A7-P33 4 H13.10.23  |F=¥HT

3 |FEBHEE =17 9 S-345F1-S + S-314F4 2 H13.10.23  |[FHHT

4 |TERF—FK =12 3BB-H6 3 6 MVT H13.10.23 | S&0T

5 | FralidL =177 =1 SD-BN107S3PAY 4 H13.10.23  [F%HT

6 [IoET—7 Z 71 1T 2368TZ-M651 H13.10.23  |[FH#PT

7 (e U GR-YS0A H13.10.23  |F¥HT

8 |F—Hr—=x 2 HHT

9 [BRA> b FaF HHHT

10 [myh— (EE=R) =17 9S-345F1-S « S-314F4 H13.10.23 |EH=

11 |Xw K KP paramount BED ER

12 [ "2ra—nEgbL 2 HEPTHEE T T
13 [NARra— L SR 2 HRPTHEL T T
14 |7vEe (HEHGMX) 25725T-D101 2 H13.10.23 |&f&E 1

15 [k HZYC-P330 H13.10.23 |AJE 1




A#E 1 CallEE B %)

5 kA EB&(BRIFEEE)

No.2

No | i 1% ( ] ¥E R A £ A BB B %
16 |2 — U a— 1 Al 1

17 |#e~rC =17 3US-18LN 3 H13.10.23 |IFAM

18 |A23rC =127 3US-18N 2 H13.10.23 |IFAM

19 |Efr =1/ 3CN-1 5 0B * VF64 12 H13.10.23 [IFob—

20 |EkT- =17 3CN-1 5 OB * VF64 3 H14.3.29 |IFm b—

21 |=HT—7 v =17 IKT-S6 1RN 6 H13.10.23 |&ik=s

22 |=ERT—7 v =12 IKT-S6 1RN 14 H13.10.23 |&i%= (BT F

23 [ Tr—7 9 DA T T

24 |FRUA A=K =1 7 3 BB-R736WIWT 1 H13.10.23 |2E==HEEE T

25 |y Ra— T R= 2 —KE-350 2 H13.10.23 [mrE—H

26 |1 F A LET-T450 2 H13.10.23 |AZREJE 1

27 | & K3 37-0005 1 H13.10.23  [AgZsHEJE 1

28 | bkZE S LEE 57-744 2 H13.10.23  [AZRHEJE 1

29 V¥ T E T-134 2 H13.10.23 |ABREJE 1

30 |FrAR—L a2~ v h-KIN-X 2 R1.11.9 AZREE 1 *HTHIEA2/1




A#E 1 CallEE B %)

5 kA EB&(BRIFEEE)

No.3

No | i 1% ] ¥E R A £ A BB B %
31 |Em G 57-7454 2 H13.10.23 |AZRELE 1
32 |BANRUTF 75 ZLP-950 - 07-444 8 H13.10.23 |AZSHJ# 1
33 |#w&x T~ b SL-L 15 H14.3.29  |AZREJE 1
34 (v vy 7/NAR—FR 2 Az HE# 1
35 [Xx ENA 10 AR EJE 1
36 [z =4 14 Az HE# 1
37 |RER v b 6 AgRELE 1
38 [2—FKVU— 4 AgRHEJE 1
39 [fKHEE 8 A#RELE 1
40 |BAERK 7 = > A 37-8010 25 H13.10.23  [AgsHJE
41 [R—nmpZ 1 Az B
42 [N R UK 21 Con HL
43 |\ L—3hE 1 ConH
44 |HA5 1 = H 2 Gty FLJ
45 | S Y I F GF-3155 1 H13.10.23 (G2 H.Ji#




A#E 1 CallEE B %)

5 kA EB&(BRIFEEE)

No.4

No | i 1% ( ] & ¥E R A £ A BB B %

46 |FEHIE h—xA 7 A FB-6015 1 H13.10.23  |GgsHJ#E

47 |INL—R— e kh—xA A FB-5520 10 H13.10.23 |GP5HJ&

48 kNI B f—=A 71 FB-358 3 H13.10.23  |GERH.JE

49 |15 R f—xA F A FB-5790 5 H13.10.23 |GERE.JE

50 |fgl&m—n~ v b 3 G B

51 | L —AR— LK 4 Gn FLJH

52 |&HE 2 G HL

53 |HIST 1 G FLJE

54 |LEDTE T 455k B m 2 G HL B

55 | v 1 G HLJ 12 (94%)
56 [NA7w RAR—/LT—)b A 2 G HLJ QBRAA TR
57 |\ —R— 3k h N — f—xA T4 F 4 G HLJ

58 |R—vinZ 2 G HL B

59 B w1 — (A=) Z 71 T 4676KZ-713 14 H13.10.23 B HEAKELRT

60 |HEH =17 IWA-15 1 H13.10.23 |#+H




A#E 1 CallEE B %)

5 kA EB&(BRIFEEE)

No.5

No. |dfh # i ( | & e s o 3 RlE BB il
61 |#EPEE 2 A

62 | ="z ad—1 4 BLHE

63 [HiHa., VT e AR HT 1 BOE

64 |BREHE 1 126. 12 EAEERT
65 |/ T N L7iEA 72 PR T
66 [$T 0 7o 7= Pk 1 7 A FFC-140D 540 S53.6.5 AT

67 |VA YL A~YA 7 NP =7 2 JeeS=st

68 |Ev~A 2 2 ik

69 [fk~A 7~ RAMSA  WM-D120SW-K 2 ¥ Ge=

0 |2rTFrY—~AY RAMSA 1 ik

(N 1 ik

72 ey h— 1 ik

BN A ALY RE 4 [P

4 |~A 7 AE Y RE 2 ik

75 [FARHL 7 KB HEA T




B (CRIEE B %) BES5E@mBRERBEITIIUN) No.6

No. |dh A 1 ( il & )| %& (& £ A RAlE B % P %
1 [A =7 1 BN — hR—
2[R 1 BN — bR — L
3 | 7T—7n 10 BN — FAR—Y;
4 1Tz 1 BN — FAR—Y;
5 |HTV 7=l HH 1 18 BANT — FR—
6 KA 3 BN — bR — L
(] 1 BN — bR — L
8 |[ET—7 5 BT — bR — Y
9 |m—XVU—E7 7t H A GME5AW 1 H6.11.30 [BNF — FAR—1E
10 [0Sz K1 1 BT — bR —
11 PRI AH R 6 PR

12 [FoR 1 PR T

13 [ RyF gy r~vi—r 1 PR R

14 [R—2, 12 (E3EL V=g

15 |B&ER 3 PR

16 [HHISz /N 1 PR T




Al#E1 CRlEE B 2%)

BES5E@mBRERBEITIIUN)

No. | 1 i ( MR |Mo& F R B[R B % P

17 |EE~_R—2 3 H29.7.11  [EHEBRA k< FHE
18 |=—> 20 B

19 |74 il K1/13 4 B

20 ¥V =7 k1 45 R

21 |77 v 13 PR T

22 |AR—=Y LT 74— 1 H26. 3 ERilty vy

23 |7 e 1 770 s REBM [k
24 BB 1 R6. 3 7F 7 REER

25 |[vAvLa~ags 4 R6. 3 77 v REEH

26 |~A 725 NE 1 770 REERR

27T |FHAL. Fi T 1 7T RE R

28 | MifhAL 2 77 REB=E

29 |#wHB B EH (2 A 48) 1 H7. 5. 26 770 REEEE

30 | AT v L AHH L1800 W570 H2100 4 R6. 3 7o 0y RAHE

31 |#d5] & 1 77 KA

32 |#lfLA PRl 1 $57.10.15 |77 v FamEL




B (CRIEE B %) BES5E@mBRERBEITIIUN) No.8

No. [ B2 1% ( 7 A ) g WS A B[ 8 s 7t | fi =

33 |HN] Y 1 ANV =




